[ Efficiency vs vertpos |

~ 0.0} - T
e SRR N — S
ey SRR N SRS S

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO

0.005
0.004
0.003
0.002
0.001

o Of
T L
O 15k--caceetemaaaaaia. ML Yl

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0%

....................................

...................................

...................................

..........

e

T S ST
2 4 6 8 10
Sim. PV z (cm)

bbb
10-8 6 -4 -2 0




	Contents
	Page 1


